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DipIETE – ET jOLD SCHEMEk
 

CRGH: DE20                                                   SXEMHFW: ELECTRONIC SWITCHING SYSTEMS
TLPH: 3 HRXUV                                                                                                     MD[. MDUNV: 100

 
NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH SURYLGHG IRU LW LQ WKH

DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16 PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1 A    CKRRVH WKH FRUUHFW RU WKH EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                 (2� 10)

       

a.       The ORZeVW OeYeO QeWZRUN iQ Whe daWa QeWZRUN iV:
 

                   (A)  MeWURSROiWaQ aUea QeWZRUN       
                                                                              (B)  LRcaO aUea QeWZRUN

                                                                              (C)  Wide aUea QeWZRUN        
                    (D)  Wi-Fi QeWZRUN
       

b.      POTS VWaQdV fRU
 

                   (A)  PXbOic RSeUaWed TeOeShRQe S\VWeP                                                                           

                   (B)  PRVW Office TeOegUaSh S\VWeP
(C)     POaiQ ROd WeOeShRQe V\VWeP           
(D)  PacNeW RSeUaWiRQ WeOeShRQe V\VWeP

            

             c.   IQ a VWURZgeU e[chaQge VXbVcUibeU iV geQeUaOO\ cRQQecWed WR:
                                      

(A)    TZR PRWiRQ VeOecWRU                     (B) UQiVeOecWRU
(C)  LiQe UeOa\                                     (D) MXOWiVeOecWRU
 

             d.   CRPPRQ cRQWURO UeTXiUeV:
 

(A)    A VeSaUaWe chaQQeO                      (B)  The daWa chaQQeO
(C)  BRWh YRice aQd daWa chaQQeO         (D)  NRQe Rf Whe abRYe

 

             e.   The 8 biW PCM VF chaQQeO UeTXiUeV a fUaPe Rf:
                                      

(A)     2 PicURVec                                   (B)  64 PicURVec

(C)  20 PicURVec                                 (D)  125 PicURVec
                  

             f.    The WiPe WaNeQ fRU Whe WZR ShaVe RSeUaWiRQ iV giYeQ b\:
 

(A)   TV = NWd + N (Wd+Wc)                      (B)  TV = Wd + N (Wd+Wc)

(C)  TV = NWd + NWc                              (D)  TV = NWd + (Wd+Wc)

 
             g.    IQ DTMF WRXch WRQe Sad, Whe cRPbiQaWiRQ Rf fUeTXeQcieV 1209 H] aQd 770 H] iV XVed WR WUaQVPiW digiW:
 

(A)  0                                                  (B)  2
(C)  1                                                  (D)  4

 

             h.    IQ a QRQ bORcNiQg QeWZRUN Whe cURVV SRiQWV VhRXOd be
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(A)  (n±1)N                                         (B)  n(N±1)

(C)  nN                                               (D)  n(N+1)
 

             i.    MAC address is used for
 

(A)    multimedia access control             (B) media access control

(C)  mobile access control                   (D) master access point control

       
             j.    ISO/OSI reference model for computer network is
 

(A)  Five layered model                       (B) Seven layered model
(C)  nine layered model                        (D) consists of tables
 
 
 
 
 
 

 

Answer an\ FIVE Questions out of EIGHT Questions.

Each question carries 16 marks.
 

 
 
 

  Q.2     a.   Classify switching systems and explain the importance of trunking.                       (8)

       

             b.   Explain the importance of Grade of service and Blocking Probability. Over a 20 minute observation interval, 60
subscribers make calls. Total duration of calls is 5000 seconds. Calculate the load offered to the network by the

subscribers and the average subscriber traffic.                                         (8)

 
  Q.3     a.   What is input controlled time division space switch, explain how this enhances the Performance.     

                                                           (8)

            

             b.   List out and explain the function of various basic circuits used for selector control in switching stages.           

                                                           (8)                                                             

 
  Q.4     a.   Draw the schematic and explain the working of a DTMF instrument.                   (8)

 

             b.   Explain how 30 voice frequency channels are transmitted using a 125 microsecond PCM frame.                 (8)

      
  Q.5     a.   Draw n-stage time and space combination switching system and show how blocking can be reduced by this design

concept.                                    (8)
                

             b.   Design a three stage network for 100 incoming and 200 outgoing trunks indicate the configuration and number of

cross points required. Draw the configuration.                                                    (8)

 

  Q.6     a.   How SPC helps in enhanced services, explain with examples.                             (8)

 
             b.   What does grade of service and blocking probability signify in a switching network and how are these taken care

of.                                                (8)                                                             

 

  Q.7     a.   What are the effects of delay, explain how delays are taken care of in telephone Networks.           

                                                           (8)
 

             b.   What is the advantage of common channel signalling, how this is implemented. Draw the signalling message format

for Single Unit Message (SUM).                                                                             (8)

 
  Q.8     a.   What are the major differences between voice and data traffic. Explain briefly the switching techniques used for data

transmission.                           (8)
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             b.   E[plain the importance of Presentation la\er in data communication.                    (8)

 
  Q.9           Write short notes on an\ T:O of folloZing:                                        (8  2 = 16)

                  

                   (i)   State transition diagram.

                   (ii)  Concentrators.

                   (iii) Subscriber loop s\stem.


